BID PROPOSAL FORM BID NO. 2015-015

BID TO:

CITY COMMISSION CITY OF MARGATE

1. The undersigned Bidder proposes and agrees, if this Bid is accepted, to enter into an Agreement with the OWNER in the form included in the Contract Documents to perform the WORK as specified or indicated in said Contract Documents entitled:

2015-015 - AGGREGATES, TOP SOILS AND SAND (CO-OP BID)

- 2. Bidder accepts all of the terms and conditions of the Contract Documents, including without limitation those in the Notice Inviting Bids and Instructions to Bidders, dealing with the disposition of the Bid Security.
- 3. The Bid will remain open for the period stated in the Notice Inviting Bids unless otherwise required by law. Bidder will enter into an Agreement within the time and in the manner required in the Notice Inviting Bids and the Instructions to Bidders, and will furnish the insurance certificates, payment and performance bonds required by the Contract Documents.
- 4. It is the Contractor's responsibility to contact the City prior to the bid opening to determine if any addenda have been issued on the project. Bidder has examined copies of all the Contract Documents including the following addenda (receipt of all of which is acknowledged):

Number	Date	

- 5. Bidder has familiarized himself with the nature and extent of the Contract Documents, WORK, site, locality where the WORK is to be performed, the legal requirements (federal, state and local laws, ordinances, rules and regulations), and the conditions affecting cost, progress or performance of the WORK and has made such independent investigations as Bidder deems necessary.
- 6. This Bid is genuine and not made in the interest of or on behalf of any undisclosed person, firm or corporation and is not submitted in conformity with any agreement or rules of any group, association, organization or corporation. Bidder has not directly or indirectly induced or solicited any other Bidder to submit a false or sham Bid. Bidder has not solicited or induced any person, firm or corporation to refrain from bidding and Bidder has not sought by collusion to obtain for itself any advantage over any other Bidder or over Owner.

To all the foregoing, and including all Bid Schedule(s) and Information Required of Bidder contained in this Bid Form, said Bidder further agrees to complete the WORK required under the Contract Documents within the Contract Time stipulated in said Contract Documents, and to accept in full payment thereof the Contract Price based on the Total Bid Price(s) named in the aforementioned Bidding Schedule(s).

Name of Firm:	AUSTIN TUPLER TRUCKING, INC.	
Address:	6570 S.W. 47th Court, Davie, FL 33314	
Name of Signer:	Glen Tupler (Print or Type)	
Title of Signer:		
Signature:	Date: Date:	
Talanhama No.	(954) 583-0801 Facsimile No.: (954) 583-08	4

BID NO. 2015-015

SCHEDULE OF BID PRICES - BID NO. 2015-015

TO: CITY COMMSSION

CITY OF MARGATE

(Please fill in all blanks and return with your proposal.)

In accordance with your request for proposals and the specifications contained herein, the undersigned proposes the following:

Zone One - Northern Broward County line South to include Commercial Boulevard, Florida Turnpike West to Nob Hill Road. See Attachment "B". Estimated quantities include requirements for Coral Springs, Lauderdale Lakes, Margate and Tamarac.

GROUP 1A (ITEMS 1 THRU 5), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL				
1.	1,700 Tons	Road Rock – Crushed Limerock as per Attached Special Specifications Additional Charge for Double Crush, if requested \$/per ton	\$ <u>14.96</u> /ton	\$ <u>25,432.</u> 00				
2.	980 Tons	Three-quarter inch Wash Rock as per Attached Special Specifications	\$_20.91/ton	\$ <u>20,491.</u> 80				
3.	30 Tons	Fill as per Attached Special Specifications	\$ <u>11.96</u> /ton	\$ <u>358.</u> 80				
4.	30 Tons	Stabilizer Material as per Attached Special Specifications	\$ <u>13.46</u> /ton	\$ 80				
5.	30 Tons	Concrete Screenings as per Attached Special Specifications	\$ <u>20.91</u> /ton	\$ 30				
NAME	NAME OF COMPANY:AUSTIN TUPLER TRUCKING, INC.							
AUTHO	AUTHORIZED SIGNATURE:							

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone One - Northern Broward County line South to include Commercial Boulevard, Florida Turnpike West to Nob Hill Road. See Attachment "B". Estimated quantities include requirements for Coral Springs, Lauderdale Lakes, Margate and Tamarac.

GROUP 1A (ITEMS 6 THRU 9), AGGREGATES (Continued)

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
6.	30 Tons	Crushed Limerock 70%. as per Attached Special Specifications	\$ <u>14.96</u> /ton	\$ 448.80
7.	60 Tons	Pea Rock as per Attached Special Specifications	\$20.91_/ton	\$ <u>1,254.</u> 60
8.	30 Tons	Rice Rock as per Attached Special Specifications	\$/ton	\$627.30
9.	30 Tons	#57 Rock as per Attached Special Specifications	\$/ton	\$ 30
		TOTAL GROUP 1A (ITEMS 1 - 9)		\$ _50,271.70

Delivery will be $\frac{2}{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.
AUTHORIZED SIGNATURE	:			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone One - Northern Broward County line South to include Commercial Boulevard, Florida Turnpike West to Nob Hill Road. See Attachment "B". Estimated quantities include requirements for Coral Springs, Lauderdale Lakes, Margate and Tamarac.

GROUP 1B (ITEMS 10 THRU 18), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
10.	30 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$_42.08_/ton	\$ _1,262.40
11.	30 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$_46.64/ton.	\$
12.	280 Tons	Top Soil Mix 70/30 as per Attached Special Specifications	\$_38.69_/ton	\$ 10,833.20
13.	50 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$_19.55/ton	\$ 50
14.	100 Tons	Top Soil Mix 100% as per Attached Special Specifications	\$ <u>14.30</u> /ton	\$00
15.	30 Tons	Ortona Sand as per Attached Special Specifications	\$ <u>24.00</u> /ton	\$ 720.00
16.	30 Tons	Florida Lawn Sand as per Attached Special Specifications	\$_24.00_/ton	\$
17.	50 Tons	Mason Sand as per Attached Special Specifications	\$_24.00_/ton	\$1,200.00
18.	900 Tons	Trap Sand #70 as per Attached Special Specifications	\$ <u>27.75</u> /ton	\$ <u>24,975.</u> 00
		TOTAL GROUP 1B (ITEMS 10 - 18)		\$ _43,517.30

Delivery will be ____3 calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY:		93	TRUCKING,	INC.	
AUTHORIZED SIGNATURE	::	- X	1		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone One - Northern Broward County line South to include Commercial Boulevard, Florida Turnpike West to Nob Hill Road. See Attachment "B". Estimated quantities include requirements for Coral Springs, Margate and Tamarac.

GROUP 1C (ITEMS 19 THRU 23), TOP SOILS - STERILIZED

ITEN NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
	NOTE: Items 19	thru 23, all materials are nematode free,	not sterilized.	(See attached.)
19.	30 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$_50.13_/ton	\$ <u>1,503.</u> 90
20.	30 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$ <u>54.69</u> /ton	\$_1,640. 70
21.	30 Tons	Top Soil Mix 70/30 sterilized as per Attached Special Specifications	\$ <u>46.96</u> /ton	\$ <u>1,408.</u> 80
22.	30 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$ <u>88.10</u> /ton	\$ <u>2,643.0</u> 0
23.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$ <u>136.56</u> /ton	\$ <u>4,096.8</u> 0
		TOTAL GROUP 1C (ITEMS 19 - 23)		\$ 11 , 293 . 20

Delivery will be $\underline{3}$ calendar days after receipt of Purchase Order, not to exceed fourteen (14) days.

AUTHORIZED SIGNATURE:	NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.
	AUTHORIZED SIGNATUR	Æ:	ر نو		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Two - Northern Broward County Line South to include Commercial Boulevard, Florida Turnpike East to State Road A1A, (Atlantic Ocean). See Attachment "B". Estimated quantities include requirements for Deerfield Beach and Pompano Beach.

GROUP 2A (ITEMS 24 THRU 31), AGGREGATES

AUTHORIZED SIGNATURE:

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
24.	10,850 Tons	Road Rock - Crushed Limerock as per Attached Special Specifications ADDITIONAL CHARGE FOR DOUBLE CRUSH, IF REQUESTED \$	\$ <u>15.76</u> /ton	\$_170,996.00
25.	250 Tons	Three-quarter inch Wash Rock as per Attached Special Specifications	\$ <u>21.71</u> /ton	\$_5,427.50
26.	30 Tons	Fill as per Attached Special Specifications	\$ <u>12.76</u> /ton	\$382.80
27.	30 Tons	Stabilizer Material as per Attached Special Specifications	\$ <u>14.26</u> /ton	\$427.80
28.	30 Tons	Concrete Screenings as per Attached Special Specifications	\$ <u>21.71</u> /ton	\$651.30
29.	250 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$15.76_/ton	\$_3,940.00
30.	40 Tons	Pea Rock as per Attached Special Specifications	\$ <u>21.71</u> /ton	\$868.40
31.	40 Tons	Rice Rock as per Attached Special Specifications	\$ <u>21.71</u> /ton	\$868.40
NAME (OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Two -

Northern Broward County Line South to include Commercial Boulevard, Florida Turnpike East to State Road A1A, (Atlantic Ocean). See Attachment "B". Estimated quantities include requirements for Deerfield Beach and Pompano Beach.

GROUP	P <u>2A</u> (ITEM <u>32</u>)	, <u>AGGREGATES</u>		
ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
32.	460 Tons	#57 Rock as per Attached Special Specifications	\$21.71/ton	\$ 9,986.60
		TOTAL GROUP 2A (ITEMS 24 - 32)	*	\$ <u>193,548.8</u> 6
Deliver days.	ry will be ca	llendar days after receipt of Purchase Order,	not to exceed three	(3)
NAME	OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.		
AUTHO	DRIZED SIGNATUI	DE.		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Two - Northern Broward County Line South to include Commercial Boulevard, Florida Turnpike East to State Road A1A, (Atlantic Ocean). See Attachment "B". Estimated quantities include requirements for Deerfield Beach and Pompano Beach.

GROUP 2B (ITEMS 33 THRU 41), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
33.	50 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$_42.23/ton	\$ <u>2,111.</u> 50
34.	100 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$_46.79/ton	\$_4,679.00
35.	250 Tons	Top Soil Mix 70/30 Fill as per Attached Special Specifications	\$ <u>38.84</u> /ton	\$_9,710.00
36.	300 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$ 20.50 /ton	\$ <u>6,150.0</u> 0
37.	100 Tons	Top Soil Mix 100% as per Attached Special specifications	\$ 15.25 /ton	\$_1,525.0 0
38.	30 Tons	Ortona Sand as per Attached Special Specifications	\$ 25.00 /ton	\$750.00
39.	500 Tons	Florida Lawn Sand as per Attached Special Specifications	\$ 25.00 /ton	\$ <u>12,500.</u> 00
40.	220 Tons	Mason Sand as per Attached Special Specifications	\$ 25.00 /ton	\$ _5,500.00
41.	100 Tons	Trap Sand #70 as per Attached Special Specifications	\$ 28.75 /ton	\$_2,875.00
		TOTAL GROUP 2B (ITEMS 33 - 41)		\$ 45,800.50

Delivery will be $\frac{3}{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY:	AUSTIN TUPLER	TRUCKING,	INC.
AUTHORIZED SIGNATURE:	0		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Two - Northern Broward County Line South to include Commercial Boulevard, Florida Turnpike East to State Road A1A, (Atlantic Ocean). See Attachment "B". Estimated quantities include requirements for Deerfield Beach and Pompano Beach.

GROUP 2C (ITEMS 42 THRU 46), TOP SOILS - STERILIZED

	ESTIMATED						
ITEM NO.	ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL			
No	OTE: Items 42	thru 46, all materials are nematode free,	not sterilized.				
42.	300 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$ <u>50.28</u> /ton	\$ <u>15,084.</u> 00			
43.	300 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$ <u>54.84</u> /ton	\$ <u>16,452.</u> 00			
44.	200 Tons	Top Soil Mix 70/30 sterilized Fill as per Attached Special Specifications	\$ <u>47.11</u> /ton	\$_9,422.00			
45.	130 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$/ton	\$_11,791.00			
46.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$/ton	\$ <u>4,200.</u> 30			
		TOTAL GROUP 2C (ITEMS 42 - 46)		\$ 56,949.30			
Delive	Delivery will be3_ calendar days after receipt of Purchase Order, not to exceed fourteen (14)						

NAME OF COMPANY: AUSTIN TUPLER TRUCKING, INC.

days.

AUTHORIZED SIGNATURE:

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Three - Commercial Boulevard South to include Griffin Road. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Davie, Plantation and Sunrise.

GROUP 3A (ITEMS 47 THRU 54), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
47.	2,245 Tons	Road Rock – Crushed Limerock as per Attached Special Specifications ADDITIONAL CHARGE FOR DOUBLE CRUSH, IF REQUESTED \$ /PER TON	\$ <u>14.26</u> /ton	\$ <u>32,013.</u> 70
48.	320 Tons	Three-Quarter Inch Wash Rock as per Attached Special Specifications	\$	\$ _6,467.20
49.	420 Tons	Fill as per Attached Special Specifications	\$11.26_/ton	\$ _4,729.20
50.	120 Tons	Stabilizer Material as per Attached Special Specifications	\$12.76/ton	\$ <u>1,531.</u> 20
51.	140 Tons	Concrete Screenings as per Attached Special Specifications	\$/ton	\$2,829.40
52.	400 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$ <u>14.26</u> /ton	\$_5,704.00
53.	550 Tons	Pea Rock as per Attached Special Specifications	\$	\$ <u>11,115.</u> 50
54.	150 Tons	Rice Rock as per Attached Special Specifications	\$20.21/ton	\$ 3,031.50

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.

AUTHORIZED SIGNATURE: _

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Three - Commercial Boulevard South to include Griffin Road. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Davie, Plantation and Sunrise.

GROUP 3A (ITEM 55), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL		
55.	1,070 Tons	#57 Rock as per Attached Special Specifications	\$ <u>20.21</u> /ton	\$ <u>21,624.</u> 70		
		TOTAL GROUP 3A (ITEMS 47 - 55)		\$ 89,046.40		
Delivery will be $\frac{2}{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.						
NAME (OF COMPANY:	AUSTIN TUPLER TRUCKING, INC	C			
AUTHO	RIZED SIGNATUR	RE:	-			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Three - Commercial Boulevard South to include Griffin Road. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Davie, Plantation and Sunrise.

GROUP 3B (ITEMS 56 THRU 64), TOP SOILS NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL			
56.	30 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$_44.43_/ton	\$ 1,332.90			
57.	450 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$_48.99/ton	\$ <u>22,045.5</u> 0			
58.	30 Tons	Top Soil Mix 70/30 as per Attached Special Specifications	\$_41.04/ton	\$ <u>1,231.2</u> 0			
59.	30 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$	\$562.50			
60.	30 Tons	Top Soil Mix 100% as per Attached Special specifications	\$ <u>13.45</u> /ton	\$403.50			
61.	100 Tons	Ortona Sand as per Attached Special Specifications	\$	\$_2,250.00			
62.	100 Tons	Florida Lawn Sand as per Attached Special Specifications	\$ <u>22.50</u> /ton	\$_2,250.00			
63.	100 Tons	Mason Sand as per Attached Special Specifications	\$ <u>22.50</u> /ton	\$ <u>2,250.0</u> 0			
64.	30 Tons	Trap Sand #70 as per Attached Special Specifications	\$_26.25_/ton	\$787.50			
		TOTAL GROUP 3B (ITEMS 56 - 64)		\$ 33,113.10			
Deliver days.	Delivery will be3 calendar days after receipt of Purchase Order, not to exceed three (3) days.						

NAME OF COMPANY:

AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE:

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Three - Commercial Boulevard South to include Griffin Road. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Davie, Plantation and Sunrise.

GROUP 3C (ITEMS 65 THRU 69), TOP SOILS - STERILIZED

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
NOTE	: Items 65 t	chru 69, all materials are nematode free,	not sterilized.	(See attached.)
65.	30 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$_52.48_/ton	\$ <u>1,574.</u> 40
66.	30 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$_57.04_/ton	\$ <u>1,711.2</u> 0
67.	30 Tons	Top Soil Mix 70/30 sterilized as per Attached Special Specifications	\$_49.31_/ton	\$ _1,479.30
68.	30 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$_96.90_/ton	\$_2,907.00
69.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$/ton	\$ <u>4,447.80</u>
		TOTAL GROUP 3C (ITEMS 65 - 69)		\$ <u>12,119.70</u>

Delivery will be 3 calendar days after receipt of Purchase Order, not to exceed fourteen (14) days.

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.	
AUTHORIZED SIGNATUR	E:	9		- 1 W 1 - W 1	

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Four - Commercial Boulevard South to include Griffin Road. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Fort Lauderdale, Lauderhill, Oakland Park and Wilton Manors.

GROUP 4A (ITEMS 70 THRU 77), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL		
70.	157,225 Tons	Road Rock – Crushed Limerock as per Attached Special Specifications ADDITIONAL CHARGE FOR DOUBLE CRUSH, IF REQUESTED \$	\$ <u>14.76</u> /ton	\$ <u>2,320,641.</u> 00		
71.	175 Tons	Three-Quarter Inch Wash Rock as per Attached Special Specifications	\$_20.71_/ton	\$ _3,624.25		
72.	30 Tons	Fill as per Attached Special specifications	\$ <u>11.76</u> /ton	\$352.80		
73.	30 Tons	Stabilizer Material as per Attached Special Specifications	\$ <u>13.26</u> /ton	\$ 397.80		
74.	30 Tons	Concrete Screenings as per Attached Special Specifications	\$_20.71_/ton	\$ 621.30		
75.	30 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$ <u>14.76</u> /ton	\$442.80		
76.	400 Tons	Pea Rock as per Attached Special Specifications	\$	\$_8,284.00		
77.	60 Tons	Rice Rock as per Attached Special Specifications	\$ ^{20.71} _/ton	\$_1,242.60		
NAME	OF COMPANY:	AUSTIN TUPLER TRUCKING, INC.				
AUTHORIZED SIGNATURE:						

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Fo	Road A1A.	l Boulevard South to include Griffin Road. See Attachment "B". Estimated quantiti , Lauderhill, Oakland Park and Wilton Manors	es include require		
GROUP	<u>4A</u> (ITEM <u>78</u>),	AGGREGATES			
ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL	
78.	10 Tons	#57 Rock as per Attached Special Specifications	\$ <u>20.71</u> /ton	\$207.10	
		TOTAL GROUP 4A (ITEMS 70 - 78)		\$ 2,335,813.65	
Delivery will be $\frac{2}{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.					
NAME O	F COMPANY: _	AUSTIN TUPLER TRUCKING, INC.			
AUTHOR	RIZED SIGNATUR	RE:			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Four - Commercial Boulevard South to include Griffin Road. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Fort Lauderdale, Lauderhill, Oakland Park and Wilton Manors.

GROUP 4B (ITEMS 79 THRU 87), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
79.	100 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$_43.83_/ton	\$ _4,383.00
80.	200 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$48.39/ton	\$9,678.00
81.	8,025 Tons	Top Soil Mix 70/30 as per Attached Special Specifications	\$ <u>40.44</u> /ton	\$ <u>324,531</u> .00
82.	400 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$	\$7,740.00
83.	130 Tons	Top Soil Mix 100% as per Attached Special specifications	\$_14.05_/ton	\$ 1,826.50
84.	4,000 Tons	Ortona Sand as per Attached Special Specifications	\$24.00/ton	\$_96,000.00
85.	6,010 Tons	Florida Lawn Sand as per Attached Special Specifications	\$	\$_144,240.00
86.	30 Tons	Mason Sand as per Attached Special Specifications	\$ <u>24.00</u> /ton	\$
87.	2,000 Tons	Trap Sand #70 as per Attached Special Specifications	\$/ton	\$55,500.00
		TOTAL GROUP 4B (ITEMS 79 - 87)		\$ _644,618.50
Delivery will be3 calendar days after receipt of Purchase Order, not to exceed three (3)				

NAME OF COMPANY: AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE:

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Four - Commercial Boulevard South to include Griffin Road. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Fort Lauderdale, Lauderhill, Oakland Park and Wilton Manors.

GROUP 4C (ITEMS 88 THRU 92), TOP SOILS - STERILIZED

ITEM NO.	ESTIMATED I ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL		
33	NOTE: Items 88 th	nru 92, all materials are nematode free,	not sterilized.	(See attached.		
88.	30 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$_51.88/ton	\$ _1,556.40		
89.	30 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$	\$_1,693.2 0		
90.	130 Tons	Top Soil Mix 70/30 sterilized as per Attached Special Specifications	\$_48.71/ton	\$ _6,332.30		
91.	30 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$_95.60_/ton	\$_2,868.00		
92.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$_146.56_/ton	\$ <u>4,396.8</u> 0		
		TOTAL GROUP 4C (ITEMS 88 - 92)		\$ 16,846.70		
	Delivery will be3_ calendar days after receipt of Purchase Order, not to exceed fourteen (14)					

days.

AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE:	9	
_		

NAME OF COMPANY:

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Five - Griffin Road South to Dade County Line. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Cooper City.

GROUP 5A (ITEMS 93 THRU 100), AGGREGATES

AUTHORIZED SIGNATURE:

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
93.	50 Tons	Road Rock – Crushed Limerock as per Attached Special Specifications ADDITIONAL CHARGE FOR DOUBLE CRUSH, IF REQUESTED \$_•50/PER TON	\$ <u>13.26</u> /ton	\$ 663.00
94.	30 Tons	Three-Quarter Inch Wash Rock as per Attached Special Specifications	\$/ton	\$576.30
95.	30 Tons	Fill as per Attached Special Specifications	\$	\$80
96.	30 Tons	Stabilizer Material as per Attached Special Specifications	\$ <u>11.76</u> /ton	\$352.80
97.	150 Tons	Concrete Screenings as per Attached Special Specifications	\$/ton	\$
98.	30 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$/ton	\$80
99.	30 Tons	Pea Rock as per Attached Special Specifications	\$/ton	\$576.30
100.	30 Tons	Rice Rock as per Attached Special Specifications	\$_19.21_/ton	\$ 576.30
NAME	OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Five - Griffin Road South to Dade County Line. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Cooper City.

GROUP 5A (ITEM 101), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL	
101.	30 Tons	#57 Rock as per Attached Special Specifications	\$/ton	\$576.30	
		TOTAL GROUP 5A (ITEMS 93 - 101)		\$ <u>6.908.1</u> 0	
Delivery will be $\underline{}^2$ calendar days after receipt of Purchase Order, not to exceed three (3) days.					
NAME C	OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.			
AUTHO	RIZED SIGNATUR	RE:			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Five - Griffin Road South to Dade County Line. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Cooper City.

GROUP 5B (ITEMS 102 THRU 110), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
			8	
102.	30 Tons	Top Soil Mix 90/10 AS PER ATTACHED SPECIAL SPECIFICATIONS	\$_44.58/ton	\$ <u>1,337.4</u> 0
103.	50 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$_49.14/ton	\$_2,457.00
104.	30 Tons	Top Soil Mix 70/30 as per Attached Special Specifications	\$_41.19/ton	\$ <u>1,235.7</u> 0
105.	30 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$ <u>17.60</u> /ton	\$528.00
106.	30 Tons	Top Soil Mix 100% as per Attached Special specifications	\$_12.25/ton	\$ 367.50
107.	30 Tons	Ortona Sand as per Attached Special Specifications	\$_24.25/ton	\$ 727.50
108.	30 Tons	Florida Lawn Sand as per Attached Special Specifications	\$_24.25/ton	\$ 727.50
109.	30 Tons	Mason Sand as per Attached Special Specifications	\$_24.25/ton	\$727.50
110.	50 Tons	Trap Sand #70 as per Attached Special Specifications	\$_28.00/ton	\$_1,400.00
		TOTAL GROUP 5B (ITEMS 102 - 110))	\$ 9,508.10

Delivery will be ___3 calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY: ___AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE:

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Five - Griffin Road South to Dade County Line. Florida Turnpike West to US 27. See Attachment "B". Estimated quantities include requirements for Cooper City.

GROUP <u>5C</u> (ITEMS <u>111</u> THRU <u>115</u>), <u>TOP SOILS – STERILIZED</u>

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
NOTE	: Items 111 t	hru 115, all materials are nematode free	, not sterilized.	(See attached
111.	30 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$52.63_/ton	\$ <u>1,578.90</u>
112.	30 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$57.19_/ton	\$ <u>1,715.7</u> 0
113.	30 Tons	Top Soil Mix 70/30 sterilized as per Attached Special Specifications	\$49.46_/ton	\$ <u>1,483.8</u> 0
114.	30 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$/ton	\$
115.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$	\$ <u>4,546.80</u>
		TOTAL GROUP 5C (ITEMS 111 - 115)		\$ 12,313.20

Delivery will be 3 calendar days after receipt of Purchase Order, not to exceed fourteen (14) days.

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.	
AUTHORIZED SIGNATURE	:	9 C	\		
			1		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Six - Griffin Road South to Dade County Line. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Dania Beach, Hollywood.

GROUP 6A (ITEMS 116 THRU 123), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
116.	100 Tons	Road Rock – Crushed Limerock as per Attached Special Specifications ADDITIONAL CHARGE FOR DOUBLE CRUSH, IF REQUESTED \$50/PER TON	\$_13.76/ton	\$ 1,376.00
117.	100 Tons	Three-Quarter Inch Wash Rock as per Attached Special Specifications	\$/ton	\$ <u>1,971.00</u>
118.	20 Tons	Fill as per Attached Special Specifications	\$ <u>10.76</u> /ton	\$ 215.20
119.	20 Tons	Stabilizer Material as per Attached Special Specifications	\$/ton	\$245.20
120.	20 Tons	Concrete Screenings as per Attached Special Specifications	\$ <u>19.71</u> /ton	\$ 394.20
121.	110 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$/ton	\$ ^{1,513.60}
122.	25 Tons	Pea Rock as per Attached Special Specifications	\$/ton	\$ <u>492.75</u>
123.	100 Tons	Rice Rock as per Attached Special Specifications	\$ <u>19.71</u> /ton	\$ <u>1,971.00</u>

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.	
2	2				

AUTHORIZED SIGNATURE:

Griffin Road South to Dade County Line. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Dania Beach, Hollywood.

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Six -

GROUP	<u>6A</u> (ITEM <u>124</u>),	AGGREGATES		
ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
124.	30 Tons	#57 Rock as per Attached Special Specifications	\$_19.71_/ton	\$591.30
		TOTAL GROUP 6A (ITEMS 116 - 124)		\$ 8,770.25
Delivery days.	will be <u>2</u> cal	endar days after receipt of Purchase Order, n	ot to exceed three	(3)
NAME C	F COMPANY:	AUSTIN TUPLER TRUCKING, INC.		
AUTHOI	RIZED SIGNATUR	E:		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Six - Griffin Road South to Dade County Line. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Dania Beach, Hollywood.

GROUP 6B (ITEMS 125 THRU 133), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
125.	30 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$ <u>44.53</u> /ton	\$ <u>1,335.9</u> 0
126.	30 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$49.09_/ton	\$ <u>1,472.7</u> 0
127.	30 Tons	Top Soil Mix 70/30 as per Attached Special Specifications	\$41.14_/ton	\$ _1,234.20
128.	30 Tons	Top Soil Mix 50/50 as per Attached Special specifications	\$18.20_/ton	\$546.00
129.	30 Tons	Top Soil Mix 100% as per Attached Special Specifications	\$12.85_/ton	\$385.50
130.	100 Tons	Ortona Sand as per Attached Special Specifications	\$24.25/ton	\$_2,425.00
131.	60 Tons	Florida Lawn Sand as per Attached Special Specifications	\$24.25/ton	\$_1,455.00
132.	30 Tons	Mason Sand as per Attached Special Specifications	\$24.25_/ton	\$727.50
133.	30 Tons	Trap Sand #70 as per Attached Special Specifications	\$28.00/ton	\$840.00
		TOTAL GROUP 6B (ITEMS 125 - 133)		\$ <u>10,421.8</u> 0

Delivery will be ____3 calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY: ____AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE: _____

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Six - Griffin Road South to Dade County Line. Florida Turnpike East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Dania Beach, Hollywood.

GROUP 6C (ITEMS 134 THRU 138), TOP SOILS - STERILIZED

1 1 1 2

ITEM	ESTIMATED ANNUAL	DECORIDEION	DELIVERED	TOTAL
NO.	QUANTITY	DESCRIPTION	PRICE PER TON	
NOTE		thru 138, all materials are nematode free	e, not sterilized.	(See attached.)
134.	30 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$_52.58_/ton	\$ <u>1,577.4</u> 0
135.	750 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$	\$ <u>42,855.0</u> 0
136.	20 Tons	Top Soil Mix 70/30 sterilized as per Attached Special Specifications	\$/ton	\$988.20
137.	20 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$ <u>97.60</u> /ton	\$ <u>1,952.0</u> 0
138.	20 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$_149.56_/ton	\$ <u>2,991.20</u>
		TOTAL GROUP 6C (ITEMS 134 - 138)	\$ <u>50,363.8</u> 0
Delivery days.	/ will be3_ (calendar days after receipt of Purchase Order,	not to exceed fourte	en (14)
NAME C	OF COMPANY:	AUSTIN TUPLER TRUCKING, INC.		
AUTHO	RIZED SIGNATI	JRE:		ř

BID SHEET

(Continued)

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Seven - Miami-Dade County Line South to include NW 151 Street, US 27 East to US 441. See Attachment "B". Estimated quantities include requirements for Miami, Miami-Gardens and North Miami Beach.

GROUP 7A (ITEMS 139 THRU 144), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL	
			5		
139.	1,260 Tons	Road Rock - Crushed Limerock as per Attached Special Specifications	\$_14.31 /ton	\$ 18,030.60	
		Additional charge for Double Crush, if Requested \$/per ton			
140.	30 Tons	Three-quarter inch Wash Rock			
140.	00 10113	as per Attached Special Specifications	\$/ton	\$582.30	
141.	30 Tons	Fill as per Attached Special Specifications	\$	\$319.80	
		€			
142.	30 Tons	Stabilizer Material as per Attached Special Specifications	\$ <u>12.76</u> /ton	\$ 382.80	
143.	30 Tons	Concrete Screenings as per Attached Special Specifications	\$ 19.41 /ton	\$ 582.30	
				Sound 1 de automation de la constant	
144.	30 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$_14.31_/ton	\$ 429.30	
Delivery will be $\frac{2}{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.					

NAME OF COMPANY: AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE:

BID SHEET

(Continued)

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Seven - Miami-Dade County Line South to include NW 151 Street, US 27 East to US 441. See Attachment "B". Estimated quantities include requirements for Miami, Miami-Gardens and North Miami Beach.

(ITEMS 145 THRU 147), AGGREGATES **GROUP 7A ESTIMATED** DELIVERED ITEM ANNUAL PRICE PER TON TOTAL QUANTITY DESCRIPTION NO. 145. 30 Tons Pea Rock \$ 19.41 /ton \$ 582.30 as per Attached Special Specifications 146. 30 Tons Rice Rock \$ 19.41 /ton \$ 582.30 as per Attached Special Specifications 1,260 Tons #57 Rock 147. \$ 19.41 /ton \$24,456.60 as per Attached Special Specifications \$ 45,948.30 **TOTAL GROUP 7A (ITEMS 139 - 147)** Delivery will be 2 calendar days after receipt of Purchase Order, not to exceed three (3) days. NAME OF COMPANY: ____AUSTIN TUPLER TRUCKING, INC.

AUTHORIZED SIGNATURE: ___

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Seven - Miami-Dade County Line South to include NW 151 Street, US 27 East to US 441. See Attachment "B". Estimated quantities include requirements for Miami, Miami-Gardens and North Miami Beach.

GROUP 7B (ITEMS 148 THRU 155), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
148.	30 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$ <u>44.93</u> /ton	\$ 1,347.90
149.	30 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$ <u>49.49</u> /ton	\$ <u>1,484.7</u> 0
150.	30 Tons	Top Soil Mix 70/30 Fill as per Attached Special Specifications	\$ ^{41.54} _/ton	\$ <u>1,246.20</u>
151.	100 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$ <u>17.60</u> /ton	\$ <u>1,760.0</u> 0
152.	30 Tons	Top Soil Mix 100% as per Attached Special Specifications	\$ <u>12.25</u> /ton	\$ 367.50
153.	30 Tons	Ortona Sand as per Attached Special Specifications	\$	\$ 757.50
154.	30 Tons	Florida Lawn Sand as per Attached Special Specifications	\$/ton	\$
155.	30 Tons	Mason Sand as per Attached Special Specifications	\$ <u>25.25</u> /ton	\$ <u>757.5</u> 0

Delivery will be $\underline{3}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY:	AUSTIN TUPLER TRUCKING, INC.
AUTHORIZED SIGNATURE:	SU CONTRACTOR OF THE PROPERTY
	63

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Seven - Miami-Dade County Line South to include NW 151 Street, US 27 East to US 441. See Attachment "B". Estimated quantities include requirements for Miami, Miami-Gardens and North Miami Beach.

GROUP 7B (ITEM 156), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
156.	30 Tons	Trap Sand #70 as per Attached Special Specifications	\$ <u>29.00</u> /ton	\$_870.00
		TOTAL GROUP 7B (ITEMS 148 - 156)		\$ 9,348.80
Delivery will be3 calendar days after receipt of Purchase Order, not to exceed three (3) days.				
NAME C	OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.		
AUTHO	RIZED SIGNATUI	RE:		

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Seven - Miami-Dade County Line South to include NW 151 Street, US 27 East to US 441. See Attachment "B". Estimated quantities include requirements for Miami, Miami-Gardens and North Miami Beach.

GROUP 7C (ITEMS 157 THRU 161), TOP SOILS - STERILIZED

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
<u>NOTE</u> : 157 .	Items 157 30 Tons	thru 161, all materials are nematode free, Top Soil Material 90/10 sterilized as per Attached Special Specifications	not sterilized. \$_52.98_/ton	
158.	30 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$_57.54_/ton	\$ _1,726.20
159.	30 Tons	Top Soil Mix 70/30 sterilized Fill as per Attached Special specifications	\$	\$
160.	30 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$_102.60_/ton	\$ _3,078.00
161.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$_155.56_/ton	\$ _4,666.80
		TOTAL GROUP 7C (ITEMS 157 - 161)		\$ 12,554.70
Delivery days.	will be3	calendar days after receipt of Purchase Order, n	not to exceed fourt	een (14)
NAME O	F COMPANY:	AUSTIN TUPLER TRUCKING, INC.		
AUTHOR	RIZED SIGNAT	TURE:		

BID SHEET

(Continued)

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Eight - Southern Palm Beach County line North to the Northern Palm Beach County line to include US 441 East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Boca Raton, Boynton Beach and Town of Palm Beach.

GROUP 8A (ITEMS 162 THRU 167), AGGREGATES

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
162.	950 Tons	Road Rock - Crushed Limerock as per Attached Special Specifications	\$ 20.01 /ton	\$ 19 , 009 . 50
		Additional charge for Double Crush, if requested \$/per ton		
163.	380 Tons	Three-quarter inch Wash Rock as per Attached Special Specifications	\$ 26.11 /ton	\$ 9,921.80
164.	400 Tons	Fill as per Attached Special Specifications	\$ 11.51 /ton	\$ 4,604.00
165.	150 Tons	Stabilizer Material	. 18 61	\$ 2,791,50
		as per Attached Special Specifications	\$ ^{18.61} _/ton	\$_2,791.
166.	200 Tons	Concrete Screenings as per Attached Special Specifications	\$/ton	\$ _5,222.00
167.	30 Tons	Crushed Limerock 70% as per Attached Special Specifications	\$/ton	\$630.00

Delivery will be $\underline{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.
AUTHORIZED SIGNATURE:		DIE!		

BID SHEET

(Continued)

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Eight - Southern Palm Beach County line North to the Northern Palm Beach County line to include US 441 East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Boca Raton, Boynton Beach and Town of Palm Beach.

GROUP <u>8A</u> (ITEMS <u>168</u> THRU <u>170</u>), <u>AGGREGATES</u>

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON TOTAL		
168.	100 Tons	Pea Rock as per Attached Special Specifications	\$ 26.11 /ton \$ 2,611.00		
169.	30 Tons	Rice Rock as per Attached Special Specifications	\$ 26.11 /ton \$ 783.30		
170.	30 Tons	#57 Rock as per Attached Special Specifications	\$ <u>26.11</u> /ton \$ <u>783.30</u>		
		TOTAL GROUP 8A (ITEMS 162 - 17	\$ 46,326.70		
Delivery will be $\underline{2}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.					
NAME	OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.			
AUTHO	RIZED SIGNATU	RE:			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Eight - Southern Palm Beach County line North to the Northern Palm Beach County line to include US 441 East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Boca Raton, Boynton Beach and Town of Palm Beach.

GROUP 8B (ITEMS 171 THRU 178), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
171.	30 Tons	Top Soil Mix 90/10 as per Attached Special Specifications	\$42.33_/ton	\$ <u>1,269.</u> 90
172.	30 Tons	Top Soil Mix 80/20 as per Attached Special Specifications	\$/ton	\$ _1,406.70
173.	80 Tons	Top Soil Mix 70/30 Fill as per Attached Special Specifications	\$/ton	\$ <u>3,115.20</u>
174.	700 Tons	Top Soil Mix 50/50 as per Attached Special Specifications	\$25.95_/ton	\$ <u>18,165.00</u>
175.	30 Tons	Top Soil Mix 100% as per Attached Special Specifications	\$	\$625.50
176.	330 Tons	Ortona Sand as per Attached Special Specifications	\$/ton	\$ _8,167.50
177.	30 Tons	Florida Lawn Sand as per Attached Special Specifications	\$/ton	\$
178.	250 Tons	Mason Sand as per Attached Special Specifications	\$24.75_/ton	\$ _6,187.50

Delivery will be $\underline{3}$ calendar days after receipt of Purchase Order, not to exceed three (3) days.

NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.
AUTHORIZED SIGNATURE:	<u>)</u>			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Eight - Southern Palm Beach County line North to the Northern Palm Beach County line to include US 441 East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Boca Raton, Boynton Beach and Town of Palm Beach.

GROUP 8B (ITEM 179), TOP SOILS - NON-STERILE

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL	
179.	1,650 Tons	Trap Sand #70 as per Attached Special Specifications	\$_28.50/ton	\$ <u>47,025.</u> 00	
		TOTAL GROUP 8B (ITEMS 171 - 179))	\$ 86,704.80	
Delivery days.	Delivery will be 3 calendar days after receipt of Purchase Order, not to exceed three (3) days.				
NAME C	OF COMPANY: _	AUSTIN TUPLER TRUCKING, INC.			
AUTHO	RIZED SIGNATUI	RE:			

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

Zone Eight - Southern Palm Beach County line North to the Northern Palm Beach County line to include US 441 East to State Road A1A. See Attachment "B". Estimated quantities include requirements for Boca Raton, Boynton Beach and Town of Palm Beach.

GROUP 8C (ITEMS 180 THRU 184), TOP SOILS - STERILIZED

ITEM NO.	ESTIMATED ANNUAL QUANTITY	DESCRIPTION	DELIVERED PRICE PER TON	TOTAL
NOTE:	Items 180 th	ru 184, all materials are nematode free,	not sterilized.	(See attached
180.	100 Tons	Top Soil Material 90/10 sterilized as per Attached Special Specifications	\$_50.38/ton	\$ 5,038.00
181.	30 Tons	Top Soil Mix 80/20 sterilized as per Attached Special Specifications	\$_54.94/ton	\$_1,648.2 0
182.	30 Tons	Top Soil Mix 70/30 sterilized Fill as per Attached Special specifications	\$_47.21/ton	\$ _1,416.30
183.	60 Tons	Nursery Mix sterilized as per Attached Special Specifications	\$_102.60_/ton	\$ _6,156.00
184.	30 Tons	Exotic Mix sterilized as per Attached Special Specifications	\$	\$_4, 666.80
		TOTAL GROUP 8C (ITEMS 180 - 184))	\$ 18,925.30

Delivery will be3_ days.	calendar d	ays after r	eceipt of Purc	chase Order, not to exceed in	וט
NAME OF COMPANY:	AUSTIN	TUPLER	TRUCKING,	INC.	
AUTHORIZED SIGNAT	URE:	J 10			

BID SHEET (Continued)

AGGREGATES, TOP SOILS AND SAND, CO-OP CONTRACT

CONTACT PER	RSON:	Tell Tuplet				
E-MAIL ADDRESS:	t	upler@bellsou	th.net			
Phone #:	(954) 583	3-0801	_ Fax #:	(954) 5	583-0844	
Federal Tax ID	#: 59-142	26412	_			
REMIT ADDRE	:SS:	6570 S.W. 47	7th Court			
9		Davie, FL 33				
WOULD YOU A	ACCEPT A C	REDIT CARD AS F	PAYMENT FR	OM AGEN	CIES PARTIC	CIPATING IN
77110 00 01 0						
NOTICES TO E	BIDDER:					
BE SUR YOUR F	RE TO HAVE '	THE BID FORM SIG JR BID WILL NOT I	GNED BY AN BE CONSIDE	AUTHORIZ RED RESP	ZED REPRES ONSIVE.	ENTATIVE OF
NAME OF COM	MPANY:A	JSTIN TUPLER '	TRUCKING,	INC.		
AUTHORIZED	SIGNATURE	<u> </u>	Moreover.			

BIDDER'S GENERAL INFORMATION BID NO. 2015-015

The bidder shall furnish the following information. Additional sheets shall be attached as required. Failure to complete Item Nos. 1, 3, and 7 (if required) will cause the bid to be non-responsive and may cause its rejection. In any event, no award will be made until all of the Bidder's General Information (i.e., items I through 7 inclusive) is delivered to the City.

Aust	in Tupler Trucking, Inc.
6570	S.W. 47th Court, Davie, FL 33314
141	
Contract	or's telephone number:(954) 583-0801
Contract	or's license: Primary classification Broward County Local Business Tages and Glen D. Tupler Sense Number Austin Tupler Trucking, Inc. Certified General
	#
150050	nental classifications held, if any:
Name of	nental classifications held, if any:
Name of	nental classifications held, if any:
Name of	nental classifications held, if any:
Name of Name of	nental classifications held, if any:

- (7) ATTACH TO THIS BID a financial statement (If Required), references, and other information, sufficiently comprehensive to allow an appraisal of Contractor's current financial condition. (Not Required)
- (8) Subcontractors: The bidder further proposes that as part of their submittal there is attached a list of subcontracting firms or businesses who will be awarded subcontracts for portions of the work in the event the bidder is awarded the Contract.

BID NO. 2015-015

REFERENCE SHEET BID NO. 2015-015

In order to receive bid award consideration on the proposed bid, it is required that this sheet be completed and returned with your bid/proposal. This information may be used in determining the bid award for this project.

BIDDE	ER (COMPANY NAME): Austin Tupler	Trucking, Inc.
ADDR	RESS: 6570 S.W. 47th Court, David	e, F1 33314
CONT	TACT PERSON: Glen Tupler TI	TLE:President
TELEF	PHONE: (954) 583-0801 F	FACSIMILE: (954) 583-0844
NUMB	BER OF YEARS IN BUSINESS:58	
ADDR	RESS OF NEAREST FACILITY:	
owners work w	the names, telephone numbers and last knowns, individuals or representatives of owners which you have performed or goods you have government owners are preferred as referen	vith the most knowledge of e provided, and to which you
	Company Name: City of Margate 5790 Margate Blvd. Address: Margate, FL 33063-3699	Phone: (954) 972-6454
	Contact Person: Spencer Shambray 7	Title:
	Company Name: American Engineer 11765 W. Okeechobee Road Address: Hialeah Gardens, FL 33018	Phone: (305) 825-9800
	Contact Person: Paul Wanamaker	Title: Vice President, Estimatin
3.	Company Name: State Contracting 1925 N. 21st Street	& Engineering
	Address: Hollywood, FL 33020	Phone: (954) 923-4747
	Contact Person: Tim Smith	Title: Vice President

COMPLIANCE WITH OCCUPATIONAL SAFETY AND HEALTH ACT BID NO. 2015-015

Bidder certifies that all material, equipment, etc. contained in this bid meets all O.S.H.A. requirements. Bidder further certifies that if he/she is the successful bidder, and the material, equipment, etc., delivered is subsequently found to be deficient in any O.S.H.A. requirement in effect on date of delivery, all costs necessary to bring the material, equipment, etc. into compliance with the aforementioned requirements shall be borne by the bidder.

OCCUPATIONAL HEALTH AND SAFETY MATERIAL SAFETY DATA SHEET REQUIRED:

In compliance with Chapter 442, Florida Statutes, any item delivered from a contract resulting from this bid must be accompanied by a MATERIAL SAFETY DATA SHEET (MSDS). The MSDS must include the following information:

- A. The chemical name and the common name of the toxic substance.
- B. The hazards or other risks in the use of the toxic substances, including:
 - 1. The potential for fire, explosion, corrosivity and reactivity;
 - 2. The known acute and chronic health effects of risks from exposure, including the medical conditions which are generally recognized as being aggravated by exposure to the toxic substance; and
 - 3. The primary routes of entry and symptoms of overexposure.
- C. The proper precautions, handling practices, necessary personal protective equipment, and other safety precautions in the use of or exposure to the toxic substances, including appropriate emergency treatment in case of overexposure.
- D. The emergency procedure for spills, fire, disposal and first aid.
- E. A description in lay terms of the known specific potential health risks posed by the toxic substances intended to alert any person reading this information.
- F. The year and month, if available, that the information was compiled and the name, address and emergency telephone number of the manufacturer responsible for preparing the information.

SIGNATURE:	A	DATE: 7/7/15

CITY OF MARGATE STATEMENT OF NO BID

IF YOU DO NOT INTEND TO BID ON THIS PROPOSAL, RETURN THIS FORM TO ADDRESS WHERE BID IS TO BE SUBMITTED:

I/We have declined to bid on your proposal No: 2015-015

Bid Description:	AGGREGATES, TOP SOILS AND SAND (CO-OP BID)
For the following	reason:
2. Ins3. We4. Ou5. Uns6. Uns7. Specification	ecifications are too tight, i.e. geared toward one brand or nufacturer only. (Explain reason below.) ufficient time to respond to invitation. do not offer this commodity/service or equivalent. It product/service schedule would not permit us to perform. The able to meet specifications. The able to meet bonding requirements. The able to meet bonding requirements are able to meet bonding requirements. The able to meet bonding requirements are able to meet bonding requirements. The able to meet bonding requirements are able to meet bonding requirements. The able to meet bonding requirements are able to meet bonding requirements.
REMARKS:	
Attach additional	pages if required.
I/We understand may be deleted t	that if the NO BID form is not executed and returned, our name from the list of qualified bidders for the City of Margate.
COMPANY NAM	1E:
ADDRESS:	
TELEPHONE N	O:DATE:
SIGNATURE OF	BIDDER:

DRUG-FREE WORKPLACE PROGRAM FORM BID NO. 2015-015

In accordance with Section 287.087, State of Florida Statutes, preference shall be given to businesses with Drug-free Workplace Programs. Whenever two or more bids which are equal with respect to price, quality and service are received for the procurement of commodities or contractual service, a bid received from a business that certifies that it has implemented a Drug-free Workplace Program shall be given preference in the award process. In the event that none of the tied vendors have a Drug-free Workplace program in effect the City reserves the right to make final Decisions in the City's best interest. In order to have a Drug-free Workplace Program, a business shall:

- 1. Publish a statement notifying employees that the unlawful manufacture, distribution, dispensing, possession, or use of a controlled substance is prohibited in the workplace and specifying the actions that will be taken against employees for violations of such prohibition.
- 2. Inform employees about the dangers of drug abuse in the workplace, the business's policy of maintaining a drug-free workplace, any available drug counseling, rehabilitation, and employee assistance programs, and the penalties that may be imposed upon employees for drug abuse violations.
- 3. Give each employee engaged in providing the commodities or contractual services that are under bid a copy of the statement specified in subsection (1).
- 4. In the statement specified in subsection (1), notify employees that, as a condition of working on the commodities or contractual services that are under bid, the employee will abide by the terms of the statement and will notify the employer of any conviction of, or plea of guilty or nolo contenders to, any violation of Chapter 893 or of any controlled substance law of the United States of any State, for a violation occurring in the workplace no later than five (5) days after such conviction.
- 5. Impose a sanction on, or require the satisfactory participation in a drug abuse assistance or rehabilitation program if such is available in the employee's community by any employee who is convicted.
- 6. Make a good faith effort to continue to maintain a drug-free workplace through implementation. If bidder's company has a Drug-free Workplace Program, so certify below:

AS THE PERSON AUTHORIZED TO SIGN THE STATEMENT, I CERTIFY THAT THIS FIRM COMPLIES FULLY WITH THE ABOVE REQUIREMENTS.

SIGNATURE OF BIDDER:

DATE: 7/7/15

OFFEROR'S QUALIFICATION STATEMENT BID NO. 2015-015

The undersigned certifies under oath the truth and correctness of all statements and of

all answer	s to questions	made hereinaft	ter:		
SUBMITTI	ED TO:	City of Marga (Purchasing M			
ADDRESS	:	5790 Margate Margate, FL			
					CIRCLE ONE
SUBMITT	ED BY:Aust	in Tupler T	rucking	, Inc.	Corporation
NAME:	G1er	Tupler			Partnership Individual
		7. 47th Cour	t, Davie	e, FL 33314	Other
TELEPHOI	NE NO.: (954) 583-0801			
FACSIMIL	E NO.:(954	583-0844			
cor	poration, trade	exact, correct or fictitious race of business	name und	omplete name der which you	e of the partnership, u do business and the
The	correct name	of the Offeror	is: Aus	tin Tupler	Trucking, Inc.
The	address of th	e principal plac	e of busi	ness is:	
	6570 S.W.	7th Court			
	Davie, FL	33314			
2. If C	Offeror is a cor	poration, answ	er the fol	lowing:	
a.	Date of Inc	corporation:	August	9, 1972	
b.	State of In	corporation:	Florid	a	

c.	President's name: Glen Tupler
d.	Vice President's name: Marc Tupler
e.	Secretary's name: Austin W. Tupler
f.	Treasurer's name: Austin W. Tupler
] .	Name and address of Resident Agent: Austin W. Tupler
	6570 S.W. 47th Court, Davie, FL 33314
If Of	feror is an individual or a partnership, answer the following:
a.	Date of organization:
b.	Name, address and ownership units of all partners:
c.	State whether general or limited partnership:
	fferor is other than an individual, corporation or partnership, describe the nization and give the name and address of principals:
1	
If Of	fferor is operating under a fictitious name, submit evidence of compliance
	the Florida Fictitious Name Statute.

a.	Under what other former names has your organization operated?
N/	A
S	
* <u></u>	
-	
UI UU	
	mpetency and/or state registration. Broward County Local Business Tax Receipt #379-2732
	Broward County Local Business Tax Receipt #379-2732 Glen D. Tupler, Austin Tupler Trucking, Inc.
	Broward County Local Business Tax Receipt #379-2732
	Broward County Local Business Tax Receipt #379-2732 Glen D. Tupler, Austin Tupler Trucking, Inc.
Have	Broward County Local Business Tax Receipt #379-2732 Glen D. Tupler, Austin Tupler Trucking, Inc.
Have	Broward County Local Business Tax Receipt #379-2732 Glen D. Tupler, Austin Tupler Trucking, Inc. State of Florida General Contractor's License #CGCO you ever failed to complete any work awarded to you? If so, state w
Have	Broward County Local Business Tax Receipt #379-2732 Glen D. Tupler, Austin Tupler Trucking, Inc. State of Florida General Contractor's License #CGCO you ever failed to complete any work awarded to you? If so, state we and why?
Have	Broward County Local Business Tax Receipt #379-2732 Glen D. Tupler, Austin Tupler Trucking, Inc. State of Florida General Contractor's License #CGCO you ever failed to complete any work awarded to you? If so, state we and why?

9. State the names, telephone numbers and last known addresses of three (3) owners, individuals or representatives of owners with the most knowledge of work which you have performed or goods you have provided, and to which you refer (government owners are preferred as references).

Spencer Shambray 5790 Margate Blvd. Margate, FL 33063-3699 Citycof Margate (954) 972 - 6454(name) (address) (phone number) 11765 W. Okeechobee Road Paul Wanamaker Hialeah Gardens, FL 33018 American Engineering (305) 825-9800 (phone number) (address) (name) Tim Smith 1925 N. 21st St. (954) 923-4747 State Contracting & Engrg. Hollywood, FL 33020 (address) (phone number) (name)

10. List the pertinent experience of the key individuals of your organization (continue on insert sheet, if necessary).

Glen Tupler has been doing this type of work for over
thirty years working for Austin Tupler Trucking, Inc. in

Dade, Broward and Palm Beach Counties. Copy of his Resume
is attached.

11. State the name(s) of the individual(s) who will have personal supervision of the work:

Glen Tupler

THE OFFEROR ACKNOWLEDGES AND UNDERSTANDS THAT THE INFORMATION CONTAINED IN RESPONSE TO THIS QUALIFICATION STATEMENT SHALL BE RELIED UPON BY OWNER IN AWARDING THE CONTRACT AND SUCH INFORMATION IS WARRANTED BY OFFEROR TO BE

TRUE. THE DISCOVERY OF ANY OMISSION OR MISSTATEMENT THAT MATERIALLY AFFECTS THE OFFEROR'S QUALIFICATIONS TO PERFORM UNDER THE CONTRACT SHALL CAUSE THE OWNER TO REJECT THE PROPOSAL, AND IF AFTER THE AWARD TO CANCEL AND TERMINATE THE AWARD AND/OR CONTRACT.

Signature:	
State of Florida County ofBrowa	ard
On this the 7th day of July, 2 Public of the State of Florida, persona Glen Tupler (Name(s) of individual(s) who appears	and
whose name(s) is/are Subscribed acknowledge that he/she/they execut	to the within instrument, and he/she/they ed it. NOTARY PUBLIC, STATE OF FLORIDA
NOTARY PUBLIC	
SEAL OF OFFICE:	Kyle C. Woloch
	(Name of Notary Public: Print,
Notary Public State of Florida Kyle C Woloch	Stamp or Type as Commissioned.)
My Commission FF 243495 Expires 06/23/2019	☐ Personally known to me, or
······································	☐ Produced identification:
	(Type of Identification Produced ☐ DID take an oath, or ☐ DID NOT take an oath
OPTIONAL INFORMATION:	
Type of Document: Number of	of Pages: Number of Signatures Notarized:

BROWARD COUNTY LOCAL BUSINESS TAX RECEIPT

115 S. Andrews Ave., Rm. A-100, Ft. Lauderdale, FL 33301-1895 - 954-831-4000 VALID OCTOBER 1, 2014 THROUGH SEPTEMBER 30, 2015

Business Name: AUSTIN TUPLER TRUCKING INC

Receipt #:379-2732
Business Type: BROKER) (TRANSPORTATION

Owner Name: AUSTIN W TUPLER Business Location: 6570 SW 47 CT

Business Opened:08/09/1972

State/County/Cert/Reg:

Exemption Code:

Business Phone: 954-583-0801

Rooms

Seats

Employees

Machines

Professionals

	For Vending Business Only Number of Machines: Vending Type:					
Tax Amount	Transfer Fee	NSF Fee	Penalty	Prior Years	Collection Cost	T.1.15.11
45.00	0.00	0.00		Ther reard	Collection Cost	Total Paid
	0.00	0.00	0.00	0.00	0.00	45.0

THIS RECEIPT MUST BE POSTED CONSPICUOUSLY IN YOUR PLACE OF BUSINESS

THIS BECOMES A TAX RECEIPT

WHEN VALIDATED

This tax is levied for the privilege of doing business within Broward County and is non-regulatory in nature. You must meet all County and/or Municipality planning and zoning requirements. This Business Tax Receipt must be transferred when the business is sold, business name has changed or you have moved the business location. This receipt does not indicate that the business is legal or that it is in compliance with State or local laws and regulations.

Mailing Address:

AUSTIN W TUPLER 6570 SW 47 CT DAVIE, FL 33314

Receipt #1CP-13-00003162 Paid 07/09/2014 45.00

2014 - 2015

REDOWADD COLINITY LOCAL BUSINESS TAY DECEIDT



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CONSTRUCTION INDUSTRY LICENSING BOARD 1940 NORTH MONROE STREET TALLAHASSEE FL 32399-0783

(850) 487-1395

TUPLER, GLEN D AUSTIN TUPLER TRUCKING INC 6570 SW 47TH CT DAVIE FL 33314

Congratulations! With this license you become one of the nearly one million Floridians licensed by the Department of Business and Professional Regulation. Our professionals and businesses range from architects to yacht brokers, from boxers to barbeque restaurants, and they keep Florida's economy strong.

Every day we work to improve the way we do business in order to serve you better. For information about our services, please log onto **www.myfloridalicense.com**. There you can find more information about our divisions and the regulations that impact you, subscribe to department newsletters and learn more about the Department's initiatives.

Our mission at the Department is: License Efficiently, Regulate Fairly. We constantly strive to serve you better so that you can serve your customers. Thank you for doing business in Florida, and congratulations on your new license!



STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION

CGC037393

ISSUED: 06/18/2014

CERTIFIED GENERAL CONTRACTOR TUPLER, GLEN D AUSTIN TUPLER TRUCKING INC

IS CERTIFIED under the provisions of Ch. 489 FS. Expiration date: AUG 31, 2016 L1406180001387

DETACH HERE

RICK SCOTT, GOVERNOR

KEN LAWSON, SECRETARY

STATE OF FLORIDA DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION CONSTRUCTION INDUSTRY LICENSING BOARD

LICENSE NUMBER

CGC037393

The GENERAL CONTRACTOR Named below IS CERTIFIED Under the provisions of Chapter 489 FS. Expiration date: AUG 31, 2016 COD WELL

TUPLER, GLEN D AUSTIN TUPLER TRUCKING INC 6570 SW 47TH CT DAVIE FL 33314



GLEN D. TUPLER

LOCAL Address 1325 Mandarin Isle Fort Lauderdale, FL 33315 (954) 522-1078 PERMANENT Address 6570 S.W. 47th Court Davie, FL 33314 (954) 583-0801

PROFESSIONAL OBJECTIVE:

To expand my participation as President of Glen Contracting, Inc. and continue with my activities concerning M & G Fill Corp.

EDUCATIONAL BACKGROUND:

December 1993, Grubbing and Clearing License, Dade County, Florida General Contractor's License, State of Florida, since August 1985 Florida State University, Tallahassee, Florida Master of Business Administration Degree, December 1981

Florida State University
Bachelor of Science Degree, June 1980
Major: Management-Manpower and Human Resources
G.P.A. 3.6 (last two years)

WORK EXPERIENCE:

8/02 - Present	Austin Tupler Trucking, Inc., President Glen Contracting, Inc., President
9/88 - Present	M & G Fill Corp., President
6/80 - 9/88	Gold Coast, Inc., Hialeah, Florida Responsibilities included outside collection existing and past due accounts, controlling jobsites and acting as a liaison between company and customers.
7/79 - 9/79	Orange Tire Company, Pompano Beach, Florida In charge of collection of accounts receivables and past due accounts with authority to set up repayment schedules.
7/78 - 9/78 7/77 - 9/77	Gold Coast, Inc., Hialeah, Florida Adept at miscellaneous jobs including everything from light bookkeeping (collection of existing accounts) to general maintenance.

ACTIVITIES/HONORS:

President, Hollywood Jaycees 1985-1986; 1984/1985 Jaycee of the Year; Member of Engineering Contractors Association; Member of Underground Contractors Association; Member of Association of Subcontractors; Member of Builders Association of South Florida; Graduate Business Association; Marketing Club 1979-1980;

Gulf Winds Track Club; Phi Kappa Tau; Waterski Club; Weight-lifting club; Intramural Track, Cross Country, Wrestling and Football Teams; Dean's List - Winter 1977, Fall 1978, Winter 1979, FAll 1980; Certified in C.P.R. and Senior Life Saving.

INTERESTS:

Physical fitness and water sports.

PERSONAL:

Marital Status: Married Birthdate: 12/19/57 Health: Excellent



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 7/7/2015

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

PRODUCER	CONTACT Jack Ebert		
South Atlantic Insurance	PHONE (A/C, No, Ext): (954) 755-8577 FAX (A/C, No): (954) 7	55-9556	
7551 Wiles Road, Suite 201	E-MAIL ADDRESS:		
	INSURER(S) AFFORDING COVERAGE	NAIC#	
Coral Springs FL 33067	INSURER A CATLIN SPECIALTY INS CO		
INSURED	INSURER B : ZURICH INSURANCE COMPANY	16535	
AUSTIN TUPLER TRUCKING INC.	INSURER C :GREAT AMERICAN E&S INS CO		
6570 SW 47TH COURT	INSURER D Liberty Surplus Ins Corp/Hull		
	INSURER E :		
FT. LAUDERDALE FL 33314	INSURER F:		
COVERACES CERTIFICATE NUMBER-USE THIS	AS OF 02/23/15 REVISION NUMBER:		

THIS IS TO CERTIFY THAT THE POLICIES OF INSURANCE LISTED BELOW HAVE BEEN ISSUED TO THE INSURED NAMED ABOVE FOR THE POLICY PERIOD

INDICATED. NOTWITHSTANDING ANY REQUIREMENT, TERM OR CONDITION OF ANY CONTRACT OR OTHER DOCUMENT WITH RESPECT TO WHICH THIS CERTIFICATE MAY BE ISSUED OR MAY PERTAIN, THE INSURANCE AFFORDED BY THE POLICIES DESCRIBED HEREIN IS SUBJECT TO ALL THE TERMS, EXCLUSIONS AND CONDITIONS OF SUCH POLICIES. LIMITS SHOWN MAY HAVE BEEN REDUCED BY PAID CLAIMS.

INSR LTR	TYPE OF INSURANCE			POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMITS		
LIII	GENERAL LIABILITY X COMMERCIAL GENERAL LIABILITY CLAIMS-MADE X OCCUR		WVD		3/1/2015	3/1/2016	EACH OCCURRENCE DAMAGE TO RENTED PREMISES (Ea occurrence)	\$	1,000,000
A				0901500863			MED EXP (Any one person)	\$	1,000
				(90)			PERSONAL & ADV INJURY	\$	1,000,000
							GENERAL AGGREGATE	\$	2,000,000
	GEN'L AGGREGATE LIMIT APPLIES PER:						PRODUCTS - COMP/OP AGG	\$	INCLUDED
	X POLICY PRO- JECT LOC						DEDUCTIBLE	\$	500
	AUTOMOBILE LIABILITY				1		COMBINED SINGLE LIMIT (Ea accident)	\$	1,000,000
В	ANY AUTO						BODILY INJURY (Per person)	\$	
ъ	ALLOWNED X SCHEDULED AUTOS			TRK9342835-01	9/16/2014	9/16/2015	BODILY INJURY (Per accident)	\$	
	HIRED AUTOS NON-OWNED AUTOS						PROPERTY DAMAGE (Per accident)	\$	
							PIP-Basic	\$	10,000
	UMBRELLA LIAB X OCCUR						EACH OCCURRENCE	\$	1,000,000
С	X EXCESS LIAB CLAIMS-MADE						AGGREGATE	\$	1,000,000
Ŭ	DED RETENTION\$			xs3718023	3/1/2015	3/1/2016		\$	
	WORKERS COMPENSATION						WC STATU- OTH- TORY LIMITS ER		
	AND EMPLOYERS' LIABILITY ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED? (Mandatory in NH) If yes, describe under DESCRIPTION OF OPERATIONS below						E.L. EACH ACCIDENT	\$	
							E.L. DISEASE - EA EMPLOYEE	\$	
							E.L. DISEASE - POLICY LIMIT	\$	
D	POLLUTION LIABILITY			UBENY105023115	1/29/2015	1/29/2016	DEDUCTIBLE \$10,000		1,000,000
							AGGREGATE		2,000,000

DESCRIPTION OF OPERATIONS / LOCATIONS / VEHICLES (Attach ACORD 101, Additional Remarks Schedule, if more space is required) SEE VEHICLE LIST ATTACHED

SCOPE OF BUSINESS: HAULING SAND AND GRAVEL FOR HIRE

CERTIFICATE HOLDER	CANCELLATION
CITY OF MARGATE	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
ADDITIONAL INSURED 5790 MARGATE BLVD. MARGATE, FL 33063	AUTHORIZED REPRESENTATIVE
	Jack Ebert/LORENN

INS025/201005) 01



CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 02/27/2015

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. If SUBROGATION IS WAIVED, subject to

th	e terms and conditions of the policy	, cert	ain p	olicies may require an e	ndorse	ment. A stat	tement on th	is certificate does not confer	ights to the			
PRODUCER						CONTACT						
Mark H. Denman						NAME: PHONE (A/C, No, Ext): (262) 886-3791						
c/o Robertson, Ryan, and Associates						o, Ext): (262) 8	386-3791	(A/C, No): (262)	886-3947			
6015 Durand Avenue, Suite 300						E-MAIL ADDRESS:						
Ra	cine, WI 53406					INS	SURER(S) AFFOR	DING COVERAGE	NAIC#			
					INSURE	RA: America	n Zurich Insu	rance Company	40142			
INSU	RED											
Ha	rbor America Coastal, Inc. Alt. Emp: AU	STIN	TUP	LER TRUCKING, INC.	INSURER B:							
30,550	977 E Wallis Dr				INSURER C:							
Po	ter, TX 77365				INSURE							
					INSURER E :							
				New York and the second	INSURER F:							
				NUMBER: 15TX1348640				REVISION NUMBER:				
CI EX	HIS IS TO CERTIFY THAT THE POLICIES DICATED. NOTWITHSTANDING ANY RE ERTIFICATE MAY BE ISSUED OR MAY (CLUSIONS AND CONDITIONS OF SUCH	PERT POLK	EMEI AIN, CIES.	NT, TERM OR CONDITION THE INSURANCE AFFORDI LIMITS SHOWN MAY HAVE	OF AN'	Y CONTRACT	OR OTHER DESCRIBED	OCCUMENT WITH RESPECT TO	WHICH THIS			
INSR	TYPE OF INSURANCE	ADDL	SUBR	POLICY NUMBER	POLICY EFF POLICY EXP (MM/DD/YYYY) (MM/DD/YYYY)		POLICY EXP	LIMITS				
	COMMERCIAL GENERAL LIABILITY		.,,,,	. Calor Hombelt		(MINIODOTTET)	(MM/DD/1111)					
	CLAIMS-MADE OCCUR							EACH OCCURRENCE \$ DAMAGE TO RENTED				
	CEATING-INIADE COOK							PREMISES (Ea occurrence) \$				
								MED EXP (Any one person) \$				
								PERSONAL & ADV INJURY \$				
	GEN'L AGGREGATE LIMIT APPLIES PER:							GENERAL AGGREGATE \$				
	POLICY PRO- JECT LOC							PRODUCTS - COMP/OP AGG \$				
	OTHER:							\$				
	AUTOMOBILE LIABILITY							COMBINED SINGLE LIMIT (Ea accident) \$				
	ANY AUTO							BODILY INJURY (Per person) \$				
	ALL OWNED SCHEDULED							BODILY INJURY (Per accident) \$				
	AUTOS AUTOS NON-OWNED							PROPERTY DAMAGE &				
	HIRED AUTOS AUTOS							(Fel accident)				
	UMBRELLA LIAB CCCUB							\$				
	- CCCOR							EACH OCCURRENCE \$				
	EXCESS LIAB CLAIMS-MADE							AGGREGATE \$				
	DED RETENTION \$							\$				
	WORKERS COMPENSATION AND EMPLOYERS' LIABILITY						7.33.7839104 375 375 375	X PER OTH- STATUTE ER				
Δ	ANY PROPRIETOR/PARTNER/EXECUTIVE OFFICER/MEMBER EXCLUDED?	N/A		WC 98-55-545-01		03/04/2045	03/01/2016	E.L. EACH ACCIDENT \$	1,000,000			
-	(Mandatory in NH)	WIA	WC 30-33-343-01			03/01/2015	03/01/2016	E.L. DISEASE - EA EMPLOYEE \$	1,000,000			
	If yes, describe under DESCRIPTION OF OPERATIONS below							E.L. DISEASE - POLICY LIMIT \$	1,000,000			
				The state of the s					.,235,555			
				Location Coverage Perio	od:	03/01/2015	03/01/2016	Client# 3404-FL				
DESC	RIPTION OF OPERATIONS / LOCATIONS / VEHIC	LES (A	CORD	101, Additional Remarks Schedu	le, may b	e attached if mor	e space is requir	ed)				
	rage is provided for 6570 SW 47th Cour		KING	, INC.								
	those co-employees at not subcontractors David, FL 33314	L										
to:	it not subcontractors David, 12 30014											
CEF	RTIFICATE HOLDER				CANCELLATION							
						e de la companya de l						
	City of Margate				SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE							
	5790 Margate Blvd.							EREOF, NOTICE WILL BE DE	LIVEKED IN			
	Margate, FL 33063				ACCORDANCE WITH THE POLICY PROVISIONS.							
				AUTHORIZED REPRESENTATIVE								
					The state of the s							
					Mark H. Neman.							

CERTIFICATE OF INSURANCE

ALL STATE INCLIDANCE COMPANY	☐ALLSTATE INDEMNITY COMPANY	
DALLO IN IL INSOINAINCE COMPANY	LIALLS TATE INDEMINITY COMPANY	IALLSTATE TEXAS LLOYD'S

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW.

CERTIFICATE HOLDER	NAMED INSURED
Name and Address of Party to Whom this Certificate is Issued	Name and Address of Insured
CITY OF MARGATE 5790 MARGATE BLV MARGATE, FL 33063	AUSTIN TUPLER TRUCKING, INC. M&G FILL CORP., GLEN CONTRACTING, INC. 6570 S.W. 47 TH COURT

This is to certify that policies of insurance listed below have been issued to the insured named above subject to the expiration date indicated below, notwithstanding any requirement, term or condition of any contract or other document with respect to which this certificate may be issued or may pertain. The insurance afforded by the policies described herein is subject to all the terms, exclusions, and conditions of such policies.

TYPE OF INSURANCE AND LIMITS

TYPE OF INSURANCE AND LIMITS									
COMMERCIAL GENERAL LIABILIT	Policy	21/4		Effective			Expirati	on	
	N/A		Date			Date			
L		А	mount						
GENERAL AGGREGATE LIMIT (Oti	\$								
PRODUCTS - COMPLETED OPERA		\$							
PERSONAL AND ADVERTISING IN	JURY LIMIT				\$				
EACH OCCURRENCE LIMIT		\$							
PHYSICAL DAMAGE LIMIT	\$			Α	NY ONE LOSS				
MEDICAL EXPENSE LIMIT									NY ONE PERSON
WORKERS' COMPENSATION &	Policy			Effective			Expiration	on	
EMPLOYERS' LIABILITY	Number	N/A		Date			Date	011	
Coverage				Date	Limits		Date		
WORKERS' COMPENSATION	STATUTORY	- applies on	ly in the follo	wing states		1.0-100		-	
EMPLOYERS'	BODILY INJUI				\$			F	ACH ACCIDENT
LIABILITY	BODILY INJUI	RY BY DISE	EASE		\$				ACH EMPLOYEE
	BODILY INJUI	RY BY DISE	ASE		\$				OLICY LIMIT
			T-1000	F. (1)	-				OLIGI LIIVIII
AUTOMOBILE LIABILITY	Policy	648656	263500	Effective	08/08/1		Expiration	on	00100145
Course Pe	Number	040000	363300	Date	00/00/		Date		08/08/15
Coverage Ba		UTOO				Limits			
X ANT AGTO X GANGED AGTOS	x HIRED A	0105			Combined	Single Lin	nit of Liabi	ility	
(Collision & Comprehensive - \$1,0	00 deductible)		BODILY INJ	IURY & PROI	PERTY DAMAG	≣ \$	1,000,0	00	EACH ACCIDENT
	x NON-OWNED	AUTOS	333,21 1110			t Liability		00	LACITACOIDENT
	· · · · · · · · · · · · · · · · · · ·	A0100	Boo	dily Injury	- Spii	operty Dan	rilling		Each
OWNED PRIVATE PASSENGER	AUTOS		\$				9	PERS	
OWNED AUTOS OTHER THAN I	PRIVATE PASS	ENGER	\$					ACCI	
	The state of the s		1 -		1 4	W. W. W.		Accii	DENT
UMBRELLA LIABILITY	Policy	NI/A		Effective			Expiration	on	
EAGU COOURDENAS	Number	N/A		Date			Date		
EACH OCCURRENCE		GENERAL A	AGGREGAT	E		S - COMPL	ETED OP	ERATIC	ONS AGGREGATE
\$	\$				\$				
OTHER (Show	Polic	су		Effe	ctive		Expirat	lion	
type of Policy)	Num	iber	Date Date						
				all recount					
DESCRIPTION OF OPERATIONS/LOCATIONS/VEHICLES/RESTRICTIONS/SPECIAL ITEMS									
CANCELLATION		R	on Bradley						
Number of days notice 3	0		ley Insurance	e Group Ind				7/06/	/15
Annexistation of the action of			uthorized Repr					Date	
Should any of the above described pe	olicies be cancel				ssuing compar	v will ende	avor to ma		
entered above written notice to the c	ertificate holder	named abou	ve But failu	ra to mail o	Joh notice chal	limpooo e	a voi to illa	a E-b	lite fulliber of days
entered above, written notice to the certificate holder named above. But failure to mail such notice shall impose no obligation or liability of any kind upon the company, its agents or representatives.									
the company, its agents or representatives.									

Division of Plant Industry (352) 395-4700



Post Office Box 147100 Gainesville, Florida 32614-7100

> 1911 S.W. 34TH STREET GAINESVILLE, FLORIDA 32608

FLORIDA DEPARTMENT OF AGRICULTURE AND CONSUMER SERVICES COMMISSIONER ADAM H. PUTNAM

May 20, 2015

AS DIL

Expires: May 28, 2016

Atlas Peat and Soil, Inc. Carol Marrero 9621 State Road 7 Boynton Beach, Florida 33437

Dear Ms. Marrero:

A recent nematode sampling of the soil material at the location described below, has been processed and found to be negative for nematodes injurious to citrus.

Soil Formulator Block, consisting of 2.0 acres, located at 9621 State Road 7, Boynton Beach.
(PALM BEACH COUNTY)

Your material found at the location described above, and consisting of pine bark, Florida tropical peat and Atlasgrow (a composted solid wastes material marketed by Atlas Peat and Soil) meets the nematode certification requirements for Texas and Louisiana.

To remain approved, all plants, plant parts (except seed), soil, sawdust, mulch, manure, potting media or peat must be burrowing nematode certified if brought within 100 feet of this approved storage area and accompanied by a certificate.

Signs should be posted to prevent dumping of refuse in and around the area.

This is official notice that the number **0905** is your permanent nematode certification number. Please refer to this number for future inquiries.

Nurserymen are reminded that the nematode certification covering the plants listed in this letter shall remain in effect for a period of 1 year (12 months) from **May 28, 2015**, unless revoked for cause.

If you have questions regarding your certification please contact your Environmental Specialist for your area, Frank Burgos of 6191 Orange Dr., suite 4472 Davie, Florida 33314 or telephone (954) 321-3147. Frank burgos@freshfromflorida.com

Sincerely,

Bryan K. Benson

Assistant Chief - Plant Inspection Bureau of Plant & Apiary Inspection

bkb/cpd

cc:

F. Burgos, R3A2, File

329, carol@atlaspeatandsoll.com

